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#1 a)    Represent the relation as an
       arrow diagram & as an 
       ordered pairs.

b)    State the domain & range.

c)    State the dependent & 
       independent variable.

d)   Function or Non­function 
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years has a mass in kilograms of 
a)

{ (14, 45) , (14, 50) , (15, 56) , (15, 64) , (17, 65) , (18, 90) }

b)   Domain : {14, 15, 17, 18}
       Range : { 45, 50, 56, 64, 65, 90}
c)   Mass ­ Dependent
       Age    ­ Independent
d)  This is not a function

#2    Variables may differ.  Let c represent a temperature in degrees Celsius.  
         Let F represent the same temperature in degrees Fahrenheit.

                             F(C) = 9/5 C + 32

#1
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#3

25 litres  ,   No
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